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1. formERl e faae Sey fr - 1x8=8
Answer the following as directed :
(a) TEITS] FIF G ?
What is scarcity?
(b) SETS (RIICH WIS e T = 2

Which of the following is not a basic
problem of the economy?

(i) = Teome T 2
What to produce
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(i) @A TAME AT 27
How to produce

(i) I/ AE TAMA F41 29
To whom to produce

(iv) LT TS @R IS RS

How to maintain economic stability

(57 T&¢o 11 Sfeqsd )

( Choose the correct answer )

sizm fRffs afsEw 2’

The exception to law of demand is

(i) (ST T3
Veblen goods
(i) TFTs %
Giffen goods
(iii) (i) SF (i) TERO!
Both (i) and (ii)
(iv) $799 9bI8 2

None of the above

(% TaI¢o 1M Tferean )

( Choose the correct answer )

( Continued )

(3)

(d) 3Ift TF w1 I TS GIH 8RS FI I GF

(e)

24P/490

AT, (SR e PR R RfeRreel 2'3

If, as a result of increase in price, total
outlay on the commodity remains same,
then the price elasticity of demand is
equal to

(i) /0
(i) 9F/1
(iii) ¥Z/2
v) ST /oo
i) / (% Teqeo 1o Bfersar )

( Choose the correct answer )

e TR afsTsm T4 I |

Substitution effect is negative for inferior

goods.
(W% S fodn )

( Write True or False )

o (1ol <o eiferPrerEe IR 3PE
=3 ?

Perfect competition is characterized by
following features, except

(i) Tesme AfSPrR w9l [REee aw

a considerable advertising by
individual firm
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(i) TR AV & 2 SE 27

free entry and exit of firm to and
from industry

(i) SPRYI (Tl € ol
large number of buyers and sellers
(iv) BRAT SoTEpTgRS *fef sifSerer

perfect mobility of factors of
production

(% aCo! A1 Sfered )

( Choose the correct answer )

TAM (O] (R ?
Who are the buyers of inputs?
(i) o ARSHH

Firm
(i) T 48

Households
(1i7) FWW

Government
(iv) SHIT FAFCAEHE

All of the above

(o Teaco! A1b Tfeear )

( Choose the correct answer )

( Continued )

(S)

(h) T ROl SR @I e SR 2

Which one of the following inputs has the
feature of perfectly inelastic supply?

(1) =
Labour
(i)
Land
(iii) “ff&
Capital
(iv) S GBS 7=
None of the above

(o= Teac0! A1 Sfeqel )

( Choose the correct answer )

2. v @R o (R e wifkor) 4x4=16
Write short notes on (any four) :
(@) ifes SfEFE
Property rights
(b) @R
Rationing

(c) TASTER TgE

Consumer surplus
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(d) dfsssTs difes 29

Y241/ Or
Marginal rate of substitution

(b) Vi@ EewrRe (e o [

(e) & @R I&H fRfegrel S JeiRy RfogrEeer 51 A4
Oligopoly el 991 | OIRR Jeikd Rfewierer @

Tmfeq REE SACEmA F41 | 2+4+5=11

What is elasticity of demand?
Distinguish between point elasticity and
arc elasticity of demand. Discuss the

3. = - wefefos wiE R0 @B SR e w9 11 method of measuring arc elasticity of
S = : demand.

() TAFER TSR

Input market

What is economic model? Explain with
an example.
5. (@) fRers @ 3@ @E? FRem @[

L/ On PR Sy 1 RerE @R RS
: ToCSTER ST I 41 2+4+5=11
(b) frfee stfes T== 2 2R 5 GFErmz
AT 4T | 3+8=11 What is an indifference curve? Mention

the properties of indifference curve.
Explain consumer’s equilibrium with the
help of indifference curve.

What is command economic system?
Give its main features.

4. (o) bIfEwE ke fn | o R SEx 59 | okeR TG
AREETS dO[ (CFE #¥1 CARFPER. HICAe] (b) ofSFE ¥ HF WEFE AAF Al @@
0 il A ¥ (A TSR SIPTHE AR
Define demand. Mention law of demand. IR & 2 4+7=11

Explain the factors which bring about

; Distinguish between substitution effect
the change in demand.

and income effect. How do they explain
the shift in consumer’s equilibrium?
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6. (a) CNUT I, 4FS IR, A1 I F [{F T
Y{EICO] SHIRIPTR. IR0 A1 | 3+3+3+3=12
Explain the concept of money cost, real

cost, opportunity cost and selling cost
with the help of suitable example.

%241/ Or

(b) @ effTerEe S AfPA @S
e =re ST TR TeAmE Al [y
T2 TR @ W Pram SeoAma afoBie
TP 2 R ? 8+4=12
How does a competitive firm decide its

profit maximizing level of output? When
does it decide to shut down its business?

7. (@) YOI “ReSTE SomE s w9 Seom
ST G4 ZHTE T WINPT SRSl 941
el 11

Explain the equilibrium of a firm
employing two variable inputs in the
short run and long run.

2<r / Or
(b) ToAMFR IR GEm @4 Jeed o
ToEE TG I3 @R @emE A 9 =,
HICEAAl 4 | 2+9=11

What is market demand curve for an
input? Explain how the market demand
curve for an input is derived.

%* ¥ K
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